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3.)

(1)�!:��6þ÷v��§

A:µ−x1 + x2 + x4 = 300¶

B:µx2 + x6 = 500¶

C:µ−x3 + x7 = 200¶

D:µx4 + x5 = 800¶

E:µx5 + x6 = 800¶

F:µx7 + x8 = 1000¶

G:µx9 = 400¶

H:µ−x9 + x10 = 200¶

J:µx10 = 600¶
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(1)b�O1, O2´�þ�m¥�ü�"�þ§d"�

þ�5�§�?Û�þ�ÚÑ´?Û�þgC§K

O1 = O1 +O2 = O2,

="�þ��.

(2)�β1, β2´α�K�§K

α+ β1 = β2 + α = 0,

l


β1 = 0 + β1 = (β2 + α) + β1 = β2 + (α+ β1) = β2 + 0 = β2,

¤±α�K���.
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(3)Ï�

k0 =

k(0 + 0) = k0 + k0,

ü>Ó�\þk0�K�þ§K

k0 + (−k0) = k0 + k0 + (−k0), k0 = 0.

(4)Ï�

k(α− β) = k(α+ (−β)) = kα+ k(−β),




kβ + k(−β) = k[β + (−β)] = k0 = 0, k(−β) = −kβ,

¤±k(α− β) = kα+ k(−β) = kα− kβ.
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3b = 2�a 6= 1�§�A�§|k��)§=β�±

dα1, α2, α3����5LÑ.

ù�§β = (−1)α1 + 2α2 + 0α3¶

3b = 2�a = 1�§�A�§|kÃ¡õ)§=β�±

dα1, α2, α3Ã¡õ«�5LÑ�ª.

ù�§β = (−1− 2x3)α1 + (2 + x3)α2 + x3α3§Ù¥x3´?

¿ê.
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